
Key Q’s and Vocab: Scientific Notation 

 

 

Vocab: 

1. none 

Key Questions (answer these in a different color ink): 

1. The number 1.34 x 10-3 is a number smaller than 1. Justify. 

a. Write the number from question #1 without using scientific notation and instead use 

metric prefixes. 

2. The number 3.45 x 103 is a number larger than 1. Justify. 

a. Write the number from question #1 without using scientific notation and instead use 

metric prefixes. 

 

These should be copied by hand into your CHILL  


